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I Sequence: items or numbers put in a pre-decided order

: : Term: a single number or variable

| | Postion: the place something is located

| | Linear: the difference between terms increases or decreases (+ or =) by a constant vaue each time
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the end of this unit you should be. able to:
Generate a sequerce from term to term

* &

Non-inear: the. difference. between terms ncreases or decreases n dffferent amounts, or by x or +
Difference: the agp between two terms
Gr[thmetc a sequence where the dfference between the terms is constant

*»  Recognise arthmetic sequences and find
the rith term
*  Recognise geomelrc sequences and
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Soling this wil find the. position of the term n the sequence. 100t term = 100 (100 + 5) = 10500|  expression
ONLY an rteger solition can be in the. sequence.

other sequerces that arse | | Geometric: a sequence where each term is found by muttipyng the. previous one by a fixed non zero
[ 1 number
e e A I
o, T T T T T P T T T T T T T
| Linear and Non Linear Sequences |1 Sequence in a table and graphically |
| Linear Sequerces — increase by addition or sublraction and the same amownl ecch tme. | | Postion tre place in the sequence |
| Nor-inear Sequences — do rof. incresse. by a corstarit amount — quadratie, geometric | I | 2 3 |
| and Fioonzce: ! o “The temn |
| Do not plot as straight nes when modeled graphicaly | : I | ] position 3 [
| = The dfferences between terms can be found by addition, subtraction, multiplication or | has 7 squares’ [
| duson I 3 5 - |
|" Fioorveci Sequence, — ok out for this tupe of sequence I} Tem:the number or varaoee Grovhical |
| A tpeoiseq | : (the number of squares in each image) I
I O l | 2 3 5 8 eew I I . 10 I
I \ | I hatabe [ posiion | 1 | 2 | 2 s 2 * I
: Each term s the sum of the previous Two terms / P : | Term 35 |7 ;g al— $ I
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| Sequences from alaebraic rules s s sstiutior 1 Becasse the terms increase. by the same addtion each time thi Position :
| 5n+7 5n2+7 :Lﬁm o5 seen n the graph |
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I : Msconceptions and comparsons

: This wil be Inear - note the sngle This is ot ear os there sa | | Compkex Gbﬂbrar/ rkes :
| power of n The vales incresse ot a poer forn | | I
| corstant rdte I I

Substitute, the. number of the. tem you are. locking for | | | I
: gn - 5 - h place of ' | : A limes whatever n sq,uared 5 w I
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: Btem=2()-5--3 |1 g :
e =2(2) 5= - I F"term (x1P=4

: 100t tesm = 2 (100) - |: J“IIZIIIIn é”x';_‘l Miem=(2x 2P 16 I
: Checking for a term in a sequence fom an equion : | 100 {eim - 21003~ 2000 100 team - (2100 F = 40000 :
| 5201 the sequerce 3n — 47 o Temlocheck H 0 |
I -4 =20l 1 ﬂ(ﬂ*5)"_' Btem - 1(1+5)- 6 You dorit reed fol
| Olgebrac ruE 1 Zttem-2(2+5) - @ expand the :
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This has the same. constant This is the constant (difference) between the
7 | | |5 Iq 29’1 4—— dfference — but & 3 more than difference befween the terme origindl and new sequence
the. original sequence in the sequence
4n+3
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